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101|R#A7 L 227 28 199| Kg |EE 2,160 648| L 2,484 216
102|357 L 1,534 1534 Kg BIE 1,566 800
111|&EEF £ 467 467| Kg BRE - &4 1,728 432
114|&5EFE 111 111| Kg Fi% - BE 2,754 2,000
15[\ 7= 2 2 Kg |EE 972
117[14 % 446 37 409 Kg |k% 2,700 2,160| £ 3,780 540
121{hblE € 13 8 5| Kg |&E 1,512 1,080| & 1,080
134[#= 518 335 183| Kg |EE 2,000 864| £ 2,268 1,512
137|&5E3.< 1 1 Kg K5 3,834
140(5 I 38 38| Kg b 43,200 2,511
147|E2 O 124 124| Kg i 14,000 4,000
168|BIEH AL H 234 234 Kg BR 2,214 432
201|{Lb L 104 104| Kg il 459 405
203|/hé L 90 90| Kg =40 432 54
205|585 L 150 150| Kg R 695
206| = 1F 460 460| Kg = 691 389
208| Mo % 439 439|  Kg ML 1,404 216
2094 B & L 68 68| Kg =5 972
210|1F ALy 132 108 24| Kg |RI% 7,560 945|101 4,590 3,510
212|&5E.3Y 199 199 Kg =4 2,020 1,242
222|002 75 75| Kg K5 432 288
252|L0AEECH 84 84 Ke |m7 1,944
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254|ED12ELCA 493 493 Kg 2Pl 1,998 1,026
3031 A 7Ly 3 3| Kg ks 1,152

305[£Aah 0% 86 53 33| Kg [&/I 2,700 2,376|&)1 3,564 2,700
315|7: b5 6 5 5 Kg = I 4,320

3191 h o 583 583| Kg - REB 2,700 864
332|115 WA EF 215 215 Kg i 2,160 1,944
3BlHHY 7 8 69| Kg |&S 4,860 2,700\ 5 19,440 3,672
3541 <Y 44 20 24| Kg |2 1,404 1,080| kK 1,728 1,404
3/5|HEY) 115 115 Kg A - PE 1,728 600
356|L LA 25 25| Kg SHR 1,080 972
3577/~ E 15 15| Kg FEE 3,888 1,013
358| KE 20 20| Kg A0 1,944 864
362(m & 9 9] Kg FE 1,620

401|H W 86 51 35| Kg [|IxE 1,998 1,512z B2 2,160 1,944
4025 E 20 20 Kg FAN 6,480 5,616
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RN L 70 70| Kg F 1,450 1,390
R 2O 507 507| Kg FA77 3,816 473
BRECEZV 188 188| Kg 73 1,410 1,180
TRER 10 10| Kg JtF 1,296

BRI 113 113| Kg 73 2,500 1,650
AR 225 225  Kg JtF 1,080 980
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70110 BA 2,473 376 2,097 Kg |EE 2,479 1,129 &E 1,512 648
71019 2 ®HA0F 142 142| Kg LA 2,808 1,170
713|L L» HHF 9 9 Keg E2pal 1,260
BlEFAI L 8 8| Kg EE 864
755|FH&» C 21 21 Kg EE 775 710
56| £ T 10 10 Kg K& 1,588
76l|b Y AEE 26 26| Kg FJE 2,121 594
8011 = 1F 104 104 Kg ¥ -mA 1,728 1,566
802|1 x| 1,610 1,610 Kg gl 1,804 1,242
8051 1E 974 9741 Kg JbiF 1,080 689
810|FAKF 60 60 Kg bF 1,728
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